EEI'E-l *EIE|_I E-l |FRP Series | | FRC Series |

3.HIO|2™(FRT Series)

Bl e =X
2 & mL|M0f 25t CfE mAE 9Al9|
ZEfa| A2iH
<& UAH BE Jhs
cZAY QE AQR| BE JIs
- HH0IES 8, ThYSt Application
Al BA @Y
FRT-030/90/ B |-
Al 744 m————
_ 030 .
050 Auto Switch$&
070
T 274
100 S 17K
orAH}

FINE AUTOMATION

108




FRT Series

FRT-030 - FRT-050 - FRT-070 - FRT-100

2y FRT-030 FRT-050 FRT-070 FRT-100
AIRICZ(mm) 2x@22 2x 25 2x 328 2x @32
33 Z=(") 0~190°
= £3 g€ 2& 2t
& YUbHp 2E & AHf
0[2 £@3(kglom) (Skgifcm?)7IZ 313 515 754 1025
sg oLzl | x¥ 2E 2% 0.49 078 233 310
(kgtcm) 4 orat 95 1,041 2639 9.68 14,08
i TS R1/8
23 380 1,290 2,080 2,830 4,090
Z[olf 3j|o|c| 5tS(kgf) 20 32 34 40
2|th E2JAE StE(kgl) 37 46 49 72
s|% AZHseo) | XN BE 23 0.2~1.0 0.2~15 0.2~20
90 71E & orast B 02~07 0.2~10
A8 Al 27
A8 i (kgt/cm?) 15~10.2
NE B8 =22
Arg 2&(C) 5~60
g 4 8=
eI ST +0,05
(mm) 1ooats] &5 = +0.07
N 7z=
o HiC| AS0lE BF | LROOIE
— 1 A “ © 2\ @ ® IE ?M U205 g7 | LRONIE
[ @\9 ®| O-Ring NBR
B @| =y | 2susas | wsone
faila o u:s ARlR|AZ
(6) MZE EtAZ
o HE Eaz
@|2=z¥ge | ey LH=g
o =4 G
©| Ho= il &2
@ | vo 512y | s B3
@] ooye A
®| o IRER;
o o Hoi2z
®| A= I NBR
6 oug NBR
7] Ao X
®| YoM NBR
® EE EtAZ
@ EE 2ad
2] £E A

FINE AUTOMATION

109




BE FRT-030 28 4=

EEI'E-l *EIE|_I E-l [FRP Series | [FRC Series |

SHOCK ABSORBER Al

FINE AUTOMATION

110

4-MBx1 DP7 @ 5
8-M6x1 & 2
, DP10 &
2-686 HE 14 CB DP85
&0 2-M10 DP15
= o %/ o ||
&
84
867h9
50 2-R1/8(AR PORT) #59h9
#32h9 0| o
anil hik
| | MI12x1.0 ‘ L :] ([
STOPPER —— BN
o\ [T ] . 0990
» LQ: ! I ']\ ! i @ @
o]
28 99 TE
70 $22 HY
(Max25) 127




FRT Series

FRT-030 - FRT-050 - FRT-070 - FRT-100

BE FRT-050 98 4=

4-M8x1.25 DP8

& 3
8-M8x1.25 ﬁ’ ﬁ%
2-¢105 &%= ¢18 CB DP10.5 bP12 N
2™ 2-M12 DP18 3
4 /()\ Py
=5 N0 S N
] (0 S
a2 /r@ (A b g
S g 5 ]
EE QLR
Je o/ &
100
877h9
63 2-R1/8(AIR PORT) % 75h9
#35h9 -
- - 1 -
‘L | MI6X15 ‘\ T \ 8]
) T & ¢ (STOPPER) — ——
2 TR S et e
38 p10 HE ol
80 %26 H9
(Max 32) 152
SHOCK ABSORBER Al (48)
1 ’ @ ®/€)\\® @
S E— )
a2 A
& ®7’ NS
EE:% Q.
SO @

]
Il

FINE AUTOMATION

11




EEI'E-l *EIE|_I E-l [FRP Series | [FRC Series |

BB FRT-070 oI X4

4-M8x1.25 DP8

2-¢105 &= 9175 CB DP105
204 2-M12 DP18

H}i,
H}i,

57

88h9
7 2-RI/8(AR PORT) 286h9
‘ ©46h9 o cu\v‘
\ ‘ M20x 1.5 — - | |
(STOPPER) &1[
o B8 _d _ 1 e ® 0 o
Ni7an\Y7an) Y & 1 I e WA W
AN ARD & H = NP INY,
© & | @ el
2 916 TE ”
90 $22 H9
(Max 35) 170
i) any NI
A % R
39 |2 ‘\’Ij’

SHOCK ABSORBER F2tA|

|
|

&
9
@)
©

0
&

I I | .
I I

FINE AUTOMATION

12




FRT Series

FRT-030 - FRT-050 - FRT-070 - FRT-100

BB FRT-100 28 X|4E

4-M10x1.25 DP10

o
8-M10x 15 § %’O
DP14 < ¢
2-9105 4E 9175 CB DP105

204 2-M12 DP18

\é -
gr \@A{%@W@
g' o \& % 6 |

& \(3/ D
130
98h9
85 2-R1/8(AIR_PORT) #96h9
’_M.‘ © ;
\ \ M20x 1.5 ] | |
m\ | ‘ | R.[
) % i . 5 O O o
() %af@ e s Py
@ (&) g’l | ﬂ% i & &
50 919 HE ”
100 3245 HO
(Max 35) 189

&~ fan) b
¥ V ¥
|

49 2

5(H9)35 |

SHOCK ABSORBER £2tA|
(76)

EE=H .o

FINE AUTOMATION

13




